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(hwqup npuntblipni])

wyn ppynud” (wflugnulilpp fpywo ki
4 = npwdpul ipwihny, puly ijwqlgnidbbpp
E_ == 5 £ynigtinwyhtt dwjuubtiph gnpdwpwwh nuuwjupgiwi [ thwljugolpnid)
E HHG pwdhibbiph, fudpbiph & puutph widwnuiabpp fruntin
Jupywlwib pynigh | pnanuyhl pjnigh
1 |2]3]4 5 6 7 8
LYHIUGLL OUUUG (1,675,384.0) (675,384.0) (1,785,827.5)
LYKULVOR APLOF3 6P <UL UE3DPU
2100(01({0|0 523,790.0 - 523,790.0
ouNu3NrE-3NrFvLEr (523, ) (523, )
wyn pynid’
Oplhunpp I gnpownpp dwpdhhhbp, whnwlpuh
2110( 01| 1| O |fpmnsurjmepnrdd, Yplonbiulpus i hwplpupiniglanwghii (346,790.0) - (346,790.0)
hwpwplipnigynihhlip, wpmwphh hwpuplpnigynibhbp
nphg’
2111{01] 1| 1 [Optitunhp W gnpownhp dwpdhbbtp,utmulub junudupnid (346,790.0) - (346,790.0)
Lanhwbhnip phnyeh hwhpughh ownugniggnihiilph qony
2150{01|5]0 hlanugnunulpuds I fousfurgdughl wyhuwmubpliy (177,000.0) (177,000.0)
nphg’
Linhwbnip ptnyph hwipuyht Swnwynipnibttph qony
2151|0151 htunugnunulu b Guhuugduhi whumwipin (177,000.0) - (177,000.0)
2400(04[0] 0 SLSEURLUL KU/ ULELNFE-B3OFLLE (1,114,372.3) - (1,114,372.3)
wyn pynid’
2420\ 04| 3| 0 |dwmnlqphp I thlipglanflpu (94,503.0) - (94,503.0)
nphg’
24241 04| 3 | 5 |Etiuputitipghw (94,503.0) - (94,503.0)
24501 04| 5| 0 | Spubiwynpin (200,000.0) - (200,000.0)
nphg’
24511 04| 5] 1 |6whwwwphuwyhl wmpubuwnpn (200,000.0) - (200,000.0)
2490| 04| o | o | Stmleumlysals huprueplpngoyne il (uyyp sl el (819,869.3) - (819,869.3)
supunlpuling)
nphg’
2491104] 9| 1 |Stnbtuwlyud hwpwpbpnignibbtp (wyp nuutiphtl swyuwnmjubing) (819,869.3) - (819,869.3)
2500(05(0] 0 Gralul UbhQUJ U3 rh MIGSNULNFG-3NFL 509,872.8 568,023.2 (58,150.4)
wyn pynud’
25101 05| 1| 0 |Unpuhwmbiinedd 602,065.0 568,023.2 34,041.8
nphg’
2511 05| 1| I [Unpwhwbnud 602,065.0 568,023.2 34,041.8
2520|05( 2| 0 | Ylampnmgplpp hlnawgnid (92,192.2) - (92,192.2)
nphg’
352110512 |1 |Ubtinuwgptiph htinwignid (92,192.2) - (92,192.2)
2900(09(0] 0 Y E-NFI-3NFL 102,590.1 192,104.9 (89,514.8)
wyn pynLd’
2910{ 09| 1| O | Giupumnypnguwlpuis I mmppuwlpud phyphwhnip hponigainih 47,619.6 47,619.6 -
nphg’
29111 09] 1| I [Lwhpiunwpnguluh Ypenipnih 47,619.6 47,619.6 -
29501 09| 5| 0 | Lum dwlpupnulihliph spuwwlpupqinng hppaniggnih 1,246.5 31,985.8 (30,739.3)
nphg’
2951(09] 5] 1 |Upmunupnguljui nuuwhwpuwlnipynih 1,246.5 31,985.8 (30,739.3)




wyn ppynud” (wlpugnidilpp fpywd ki

E =l e npudpudi ipwbny, puly lnfuqlignufibipn
= == ; Pniginwyhil dwjuubiph gnpdwnwlui puuwljupgiwb P — hulpugolipnul)
£ |2 HE puidhiiiitiph, fudpbiph U nuubph wigwinuitpp udiip
Jupswuwh pynigk | Pnunuyhtt pynrok
1 |2]3]|4 5 6 7 8
2960( 09| 6 | 0 | Uppanrjpgumbp impuwdwnpifny odwbhnmly dwnuygnijpgniiiblp 53,724.0 112,499.5 (58,775.5)
nphg’
2961(09] 6| 1 |Uppenipjuin wmpudwnpynn odwinul dwnuynipnLhltp 53,724.0 112,499.5 (58,775.5)
<bhULUILUUL AUFPLLELRL 29U UIN
3100(11({0|0 649,684.6 1,435,512.1 -
MULNFUSU3PL HALAIEL (649, ) (1,435, )
wyn pynid’
11]1
3110 0 << punwjwpnieyuh i hwiduwghphbph wpwhniummuwghh $nin (649,684.6) (1,435,512.1) -
nphg’
3112| 11] 1] 2 [{< hwdwylphtiph wwhniuwmugh $nin (649,684.6) (1,435,512.1) -






